DUSS MeiBelhammer

Ersatzteilliste PK600

Ident-Nr. Benennung Bestell-Nr. Stuck
24404  Geratekoffer PK600T 1
25211 Spatengriff PK600-1 1
25227  Spatengriff, komplett PK600-1K 0
55117  Scheibe PK600-2 1
51167  Sterngriff PK600-3 1
51170  Sechskantschraube M8x150 PK600-4 1
25194  Klemmring PK600-5 1
24247  Druckfeder @10mm PK600-6 1
25205  Manschette PK600-7 1
83964  Scheibe PK600-9 1
25209  Futterhilse PK600-12 1
24249 Druckfeder @54mm PK600-14 1
83546 Rollenkéfig PK600-15 1
83547  Futterrolle PK600-16 3
24248  Druckfeder @42mm PK600-17 1
24246  PaBscheibe @47mm PK600-18 2
53055  Sicherungsring PK600-19 1
25210  Nabe PK600-20 1
21028  Hammerlagerdichtung PK600-24 1
54052  Doppelabstreifer PK600-25 1
83537  Schlagerring PK600-34 1
54118  Kolbenring PK600-35 1
88079  Kolben PK600-36 1
83538  Kolben, komplett PK600-36k 0
83539  Kolbenbolzen PK600-37 1
24182  Sicherungsring PK600-38 2
55114  Lagerring PK600-39 1
58010  PaBscheibe @68mm PK600-44 1
54119  O-Ring 53x7 PK600-45 1
55112  Lagerring @60mm PK600-46 1
55125  Nadellager PK600-48 1
55077  Axialscheibe PK600-49 1
83555  Vorgelegerad PK600-51 1
55008 Rillenkugellager PK600-52 1
55113 Rillenkugellager PK600-54 2
51168  Zylinderschraube M5x16 PK600-56 2
51048  Linsenkopfschraube 4x62 PK600-58 2
58002  Tellerfeder PK600-61 4
51027  Zylinderschraube M5x180 PK600-62 4
25213  Isoliergehduse PK600-63 1
25301  Motordeckel PK600-64 1
51008 Linsenkopfschraube 4x14 PK600-65 6
24077  Zylindergeh&usedichtung PK600-66 1
54000  Kupferdichtring M5 PK600-68 4
51030  Zylinderschraube M5x35 PK600-69 2
51097  Kerbstift PK600-71 4

04.08.2015



DUSS

MeiBelhammer

Ersatzteilliste PK600
Ident-Nr. Benennung Bestell-Nr. Stuck
81246 Kohlehalter PK600-72 2
51046  Linsenkopfschraube 3x10 PK600-73 4
51026  Zylinderschraube M5x16 PK600-75 2
54125  V-Ring PK600-77 1
54026  O-Ring 30x2 PK600-78 1
83545  V-Ringscheibe PK600-79 1
55016  Rillenkugellager PK600-80 1
82026  Lagergummi, grof3 PK600-81 1
83133  Ankerlagerring PK600-82 1
51014  Zylinderschraube M4x22 PK600-83 2
54062 Kupferdichtring M4 PK600-84 2
58005  PaBscheibe PK600-85 1
83559  V-Ringunterbau PK600-86 1
55010  Rillenkugellager PK600-88 1
82025  Lagergummi PK600-89 1
25218  Schraubhandgriff PK600-93 1
54131  O-Ring 8x3 PK600-94 1
24081  Stellradfeder PK600-99 1
81063  Drehwiderstand PK600-100 1
51050  Linsenkopfschraube 4x20 PK600-103 5
25004  Kabelklemme PK600-104 1
25009  Kabelschutzschlauch PK600-105 1
52001  Kabel mit Stecker PK600-106 1
22169  Kohlebirste PK600-200 1
22168  Kohlebirste mit Meldelitze PK600-201 1
81332  Elektronik mit Serviceanzeige, 230V PK600-202 1
25321  Dampfgeh. Oben PK600-203 1
52226  Schalter PK600 PK600-204 1
25275  Schalterhandgriff PK600-205 1
24308  Einlegemutter, M12 PK600-206 1
25278  Diodenhalter PK600-207 1
83897  Futterring PK600-208 1
53073  Sprengring PK600-209 1
81336  Anker PK600-210 1
83929  Pleuel, komplett PK600-211k 3
83904  Pleuellager PK600-212 1
27143  Selbstklebeschild RVA PK600-213 1
83906  Motorgehduse PK600-214 1
53046  Sprengring PK600-300 2
54173  O-Ring 35x7 PK600-301 3
83928  Schutzring PK600-302 1
51340  Zylinderschraube M8x70 PK600-303 4
83924  Hammerlager PK600-304 1
54174  O-Ring 40x8 PK600-305 2
83925  Axialscheibe PK600-306 1
83898  Dampfring PK600-307 1

04.08.2015

2/3



DUSS MeiBelhammer

Ersatzteilliste PK600

Ident-Nr. Benennung Bestell-Nr. Stuck
83896  Dopper PK600-308 1
83899  Anschlagring PK600-309 1
83902  Zylinder PK600-310 1
83903  Schlager PK600-311 1
83917  Anschlagscheibe PK600-312 1
83916  Tellerfeder PK600-313 7
83889  Zylindergehause PK600-314 1
83905  Vorgelegeritzel PK600-315 1
83900  Kurbel PK600-316 1
83901 Kurbelrad PK600-317 1
51338  U-Scheibe M5 PK600-318 2
81334  Feldpaket, 230V PK600-319 1
27169  DUSS-Aufkleber PK600-320 2
24392  Typenschild PK600-321 1
25322  Déampfgeh. Unten PK600-322 1
83891  Adapterplatte PK600-323 1
51161  Zylinderschraube M6x25 PK600-324 8
83908  Gummipuffer PK600-325 1
51341  Zylinderschraube M8x25 PK600-326 2
24391 Druckfeder 1,6x9,9x48 PK600-327 4
51342  Zylinderstift 10 x 60, gehértet PK600-328 4
83890 Dampfmasse PK600-329 1
80167  Linsenschraube M10x35 PK600-330 2
83907  Abstandsbuchse PK600-331 6
54022  O-Ring 6x1 PK600-332 4

04.08.2015



05/14



